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000000000 30[deg)U0O0OO0OOOOOOO
oood

Bpin = 1.9 x 107°[T]

oooooooooooo I, 0000000000
o0 M, 000

Tmt = Mt X Bmin

oobooobooobooooboooboboooobo
gbobooooooooooobooboobobobo
obooooobooooboobooog MO

T,
M, > =" — 1.4[Am?]

min
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goood A% 5

goood W 1
oood O =300 +50

~_|

O 47: MTR-5 Magnetorquer

3.9 000

3.9.1 0O0O0OO

obOooooboooboooobobobo1booon
obobgooboobooooobooboboobooobooonog
gbooooooooooboobooboboboon
gbooooooooooobooooooooooona
obobobobobobobobooboboobo
obobooboobooooboooboobooboboonog
gboooooooooobooboobobobobo
gboooooooobooo

3.9.2 0O0000O0DOOO

oobooOoOooooooooobobooon20000
oboboooooooooooooobooooobooobo
0000+10%00000000000000000
gbobooooooooooobooboobobobo
00000000 sANYOOOOooOooooooo
UR18650ZTAOO0ODOODOOOOOO24000.00
gbobooooooooooboooboooobooobooog
gboboooobooooobooooooooooonog
obooooOoboooooboooooboooboooonog

oo0oooooogoogogoooboo c.ooooo



023:0000000(@OO)

oooo 000 |00 (V]| OO [W]
000 1 500 20
000 1 47 5
gooooooono
0ooo0ooooo 1 3.5 0.735
000 2 24 12
00000 1 1.8 0.002
googoog 3 5 0.3
GPS 1 5 1
000000
oooo 1 5 9
goooog 1 5 1
goog 1 7 8
goo 1 5 0.13
CPU 1 3.3 0.4
00 | 58572
024000000
000 0
00 mm | ¢ 18.24 x 65.1
00 e 48
0000 | Ah 2.9
gogog Vv 3.7
0oooooon
P.T,
Cr =GNV
P, : 000OOOD
T, : 00000
C, : 000000 DOD
N : 0000000
Vv, : 0000000000000000
n : 0000-000000000

0230000000 Vy=24[V]OOOOOOOO
oboooooooooooon

oood 24
= 0000 —§—6.5<7[D]

0000000000 100000000000000
0 500(km]000000 30[deg) 1000000 T =
1.58h)0000 7, = 0.60[h]00 000 Ty = 0.98[h) O
00000000000000 15000000000
DOD(DD0D0D0)0000000 Cy =80[% 0000

0000000000000000000 n=20.90
0000000+10%00000000 P, = 64.4[W]
000000000000000000000

P.T,
CTCdVdn

64.4 x 0.60
T29x08x%x24x%09

—0.77 < 1[0]

N:

oboooooorbOobO01000o0000o0004d
oboooooooboobooboboboobo1ooo0oog
obob0 4000000000000 bOobobOon
0000000000000 00 48 x 14 =672[g] 0
ooo

000000000500 vV)oOOOO PICO ELEC-
TRONICSOO DC-DCOO0OO0O0ODO (24QP500) 000
00000 24[V]O0OO0oOooooooobe-bec OO
obooooooo 2000040

O 25: DC-DCODOOOO

oo O
o0 mm | 63.5x 39.4 x 12.7
oo g 75
o000 v 1801 36
godg \% 500
gooooo W 40
oo - 0.89
oooooo O 00 85

3.9.3 0OO0O0OO0OODOOO

00000000000000000000000
00000000000000000000 GPSOO
0000000-00000000 105010000
0000000000100000000.73)000
00000000000000000 1000000
100 (1.61[h]) 000 290[s] 00000000000
000000100 (240h)) 0000000 150000
000000000 290[s]x150 = 43500[s]= 23.67[h]
000000000000000000000000
000000000000000000000000
000000000002 000000000000
000000000000 +10% 000000000
0ooooooo

00000000000000000000000
0000000000000000000000000
000000000000000000000 1000
000000000000000000000000



0260000000 (@Og)

o000 000 |00 [V]| OO0 W]
000 (000) 1 3 3
000 (000) 1 3 0.1

GPS 1 5 1
CPU 1 5 0.15
115000)
00 | 1.25000)

obobooooooooobooooobooooooonog
00000000000000000000 ER18/50
gbooooooooog2rogoo.

g2 000000

ooo O
0o mm | ¢ 18 x 52.6
oo g 22
oooo Ah 3.65
oooo \% 3.6
oooooo O -55 O +85

0000000 3[V]O GPSO CPUDDOO 5[V
0000000000000001000000000
GPSO CPUODODOOOOOO 20000000000
000000000000 NOOOODODOOOO

_oooooo xooooood

N@WD_DDXDDDDXDDDDD
3.3 23.67+0.11 x (240 — 23.67)
N 3% 3.65 x 0.9
=10.34 < 11[0] O
000000 xOO0O0O0OoOoo
NGM) =35 xoo0o xooooo
~1.265 x 240
5 x3.65 x0.9
=18.5 < 19[0]

oobo0o0ob0o 10000 noooooobo 200
gb190obobobobobobobobobbob
gobooboooboob1ooooooooe’d
obobobooboooboooooooooooooobo
0000000000 22x98=2156[g)0000O

3.94 0O0O0OOO0OO

OO00O0O0O0000opoOoDoOO SPECTROLABODO
GalnP2/GaAs/Ge 0 00000 NeXt Triple Janction

028 0000

aoo 0

oo mm 0.14
gooooooba mg/cm? 84
oood - 0.295

oag mA /cm? 17.02

o A% 2.348
gooood - 0.9
googooooa - 0.9
0000000000 | pA/em?/0 | 09
gooobooobgon mV/0 0.9
goonf %/0 -0.286

(XTJ) Solar Cells OO OOOOOOODO 280000

gbobooboobobooboobboooboan
000000 Pe(EOL)OUOODDOOUDOODOOOD

P.T. PyTy

Pio(BOL) = e
d

goooooboboobooobOoDOon0DXe =Xy =

pP. . 000000

P, : 00OOOO

7. : 00O

7, : 0000

X, : 000O0-000000000
X, : 0000O00O0O- 000000000

000000.00000000 P. =Py = 64.4,T, =
0.60,7; = 098000000 P,(EOL)0O0O0ODOO
ooo

64.3x0.60 + 64.3x0.98
0.90 0.90

0.98
=115.37[W]

P,o(EOL) =

00D001154W]0000000000000000
0oooo
00000000000000000000000
000000000000000000000000
70[0]00000000 2800000 28[0]0000
000000000~000000000

v =1+ (70 — 28) x (—0.286/100) = 0.88

000000000000 00000O0 30[degl O
gbobooooboooooboooooooooooDog
000000000000 53.4[deg)D0000O0OOO
gbooobOooboooooboooooao



00000000000000000000 P,(BOL)
0ooooooooo

_ P, (EOL)
 cosb3.4 x y
1154

:cos 53.4 x 0.88
=219.9[W]

P,.(BOL)

000000 13500W/m?2] 00000000000
0oooooo

ooooog = Pea(BOL)
00000 xO0000
219.9

1350 x 0.295
=0.552[m?]

00100000 2fem]x 2[em] 000000000
0oooooooo

(2 x 10-2)?
=1380.6 < 1381[0 ]

gbobgoobooobooobooboobboooboo

0000000 1526000000000000 0.6104[m?)

000000000000 000 %% oo0ouoon
ooooooooboo

Ooooo = ooooo
googooboooog

~ 0.6104
095

=0.643[m?]

obooooOobooooobooooooboooonog

00000 =840[g/m?] x 0.643[m?]
=540(g]

ooboooboooooooooooobooooooo
goboooooboooooobooooooobooooo
00000000000 20%00000 25.9x1.2=
3.8V oooooooooooooooooo

gooogo

ooood

31.08
o318 32 S

goooo =

00000880000 UunOonng 1526/14 =

10900000

4 00O

4.1 0O0O0O0O0OO0OOO

4.1.1 OO0

O00oo0oooooooooooooooon
O0000o0oo0o0oooOoooDoooooooooo
O00000oooooooooooooooooo
O00000o00ooooooooDoOoooooooo
00000000000 00000oo00oooon HK
0000 HouseKeeping dataODO O OO0 0O O0O0O0OOO
O0000o0ooooooooooOoooooooon
O,000000000000000,00000000
0o0o00oooooooooo,0ooooooooo
ooono

4.1.2 0O00-000000

gboooooooooooboobobobooboo
gbooobo-obooobooooboooooogon
oboboooobooooooooobooooooog
Oo000oooooooGpSOO0OCOOOOOOO
gbooobOobooooboboooobooon

02900000

oo O
ob-000d MHz | 430.0
oboo-00d MHz | 401.5
obo-0o00 | MHz | 430.0

4.1.3 0OO0OO0OO0OO0OO0OOO

oboooooobooobiloooooooobooon
goooobooooooooobooooooobooog
goboobo-0obooboooboooboooboooobog
gboooooooooooooooooooonod
obobobobobobobooboboobobo
gooo,0o00boooooboooooboobo

4.2 O00-0000O0DOO0O0OObOOO

4.2.1 000O00OO0O0OOO

00000000 500[km]000000 30[deg) OO
0000000000000 JAXADOOODOOOO
000000000000000 170[deg] 00000
000000000000000000000000



gobobOoooboooobogo legobooooog
gbooooooooboo

0 30: 0000
00 O
0000 km 500
0000 s 5677
0000 km /s 7.61
000000 deg 170
000000 |s/(1600) | O 4000

4.2.2 000000000

00000000000000HKOOOOOOOO
000000000000000000000000
000000000000000030s0000 10
0000 31.2kbyte] 000000000000000
000000000000000000000000
000000000000000000000000
000 32000000000000000000 10
000000000000 23.3kbyte] 0000000
000000000000000000000000
00 54.5[kbyte] 0000
000000000000000000000000
0000000000000000000000 30[s]
0000000000 100000 6.2[kbyte] 000
0ooooooooo
000000000000000000000000
00000000000000000000-0000
000 32kbps] 100 00000000000000
000000 1600000000000000000
0000000 310000000 27.2[s|00000
001000000000000000000000
000000070000

4.3 0OD0O0O0O0OOOOO00

4.3.1 O0OO0OO0OO0OOOO0OO0O0

oboobooooooooooooooooooo
gooooooooooobboboboooooooooo
OOOOOOOoOoOoOoO TXE430MFMCW-301A0 O
00000 RXE400MFM-101ADDOOCOOOOOOO
OOoOoOO0OO0 TXE400MFM-101A0000O0O

oooos3gooooooooooooooooon
oboboboobooooboobooooooooooog
obobooooooooobooooboooooboobo
gbobooooooooooobooboobobobo

31

0 31: 0000000000
00 000 0ooo
00 GPS
ooo 0o
00 goooo
ooooo
RWOOO
Ooooooo
0000
oo00
ooooo
oo0
0ooooo
ooooo
Oooooo
(0oDooon)
gooood
0ooooooo
gooooo
ooooo
Oooo
ooooo
0oooo0o0o
0ooooo
goooon

oooo

= =] = of Lol Lol DO Wo| Lo | Lof Lo

ooo

0ooo
oooo

il i e e e e

0 32:. 0000000000000

od ooo oooo
od GPS 3
oo 3
ood oooooooo 1
gooooo 1
oo ooooooo 1
gooooo 1
gooooo 1

oboboooobooooobooooooooooonog
0000000000000 00000 500km] 00
oooooooooOooO PpPPDOOOOOOOOOOO
ooooooboooobobooog

4.3.2 000O00DOOOOCODOOOO

gboboabooobooboobboooboan
goooobooobooboob 33boan

G[dBi] = 10log Kﬂf)w

D 00000
n 00000 (60%000)
A ooooooo

033:00000od

go O
googoooo m 10
oooooooo | dBi | 309




034000000 037 000-000000 C/Ng

ooog O oo [ O
00 ] 0 oooo FM
oo RXE430M-301A 00 E,/No dB 10.5
oogg dBmV -121 0ooo0oOooooo dB 2.5
oooog W 0.13 ooooo dB 5.2
gooo \ 5 0ooooo kbps | 32
oooooo O -300 +60 ooooon dBHz | 45.1
ooooag mm 60 x 50 x 10.5 oooo dB 3
oo g 38 00 C/No dBHz | 50.6
00O (ooo)
00 ] 0
oo TXE400MFM-101A
gooo W 2000 050000 0 38: 00-000080 C/No
SO000 W 3 oo 000000 | oooooo
5000 v =5 ooo MHz 430 . 4015 ]
SO00000 5 300 170 0o km 6.97 x 10~ 747 x 10~
ooooo mm 100 x 60 x 10.5 OO0 EIRP dBW 40.8 -1.8
00 z 0 ooooo dBW 10.0 -3.0
oooo dB 0 0
ooooooon dBi 30.9 1.2
DDDDD('[]DD) 5 000O0O0000on dB 0.1 0
oo TXE430MFMCW-301A noonon dB 151.5 150.9
S W 08 gooooo km 2077 2077
gooo W 3.0 oooo dB 3 3
gooooo dB 0.3 0.3
oo v 5.0 oooo dB 0.1 0.1
gooooo 0 -300 +60
oooog mm 100 x 60 x 10.5 Hoon dB 0 0
55 . 0 00 G/T dB/K 247 11
000oO0O00o0oon dB 0 0.1
ooooooono dBi 1.2 30.9
oooo dB 0 0
ooooooono dBK 25.9 26.7
03 000000oad ooooooog K 100 300
DD\ 0 ooooooo K 289 170
ooooooo K 313 200
oOoon oooboooood oooo dB 3 3
gooooooo dB 44 44
ooo MHz 430 00 C/No dBHz 89.8 76.6
00 mm 170 gooooo dBHz 33.6 20.7
PFD dBW - -126.8
00 g 150
oo dBi 1.2
boooood | @ 3 039:000-000000 C/No
0 0o 0
oog MHz 430
oo km 6.97 x 107
0 36: 00-00000 C/Ny 00 EIRP dBW -1.0
0o 000000 | oooooo ooooo dBW -1.0
0oooo FM GFSK oooo dB 0
00 Ey/No dB 10.8 10.5 oooooobooo dBi 0
I dB 2.5 25 goooooogn dB 0
ooooo dB 5.2 5.2 oooooo dB 4.7
0ooooo kbps 32 32 oooogo km 0.3
oooooo dBHz 45.1 45.1 ugoo dB 3
oooo dB 3 3 uogo dB 0
00 C/No dBHz 56.2 55.9 oo G/T dB/K -25.6
0Oo0oooooon dB 0.1
0ooooooo dBi 1.2
oooo dB 0
0ooooooog dBK 26.7
4.4 0000 0ooooooo K 300
0O0ooooo K 170
4.4.1 0O0OO 0oooooo K 200
0ooo dB 3
00000000000000000000000 00 C/No dBHz |  124.4
gooooo dBHz 68.5

oobooooooboooobooobo.oboooo
oboboobooboooooooooboooooooog
gobooboo.ooooboboobboooobooog

32



gbooooooa.

4.4.2 00000

obooooooooobobob 20000000
g.0oboobgoooboooboobobobooooa.
gooooOoobooobOoobOoobOoonn 400
oo.

gbooooobdoooooobooon

e JOOO
e JOODOOO
e JOODOOO

obobooboobooooboooooooooooonog
oobooooboooobooooobooboobooo.oog
gbobooooooooooobooboobobobo
gbooooooooooobooooooooooonog
obooooooboooon.

4.4.3 00O

googoo

uobodoboobooobuoobooboboooboooboo
oboobobobobobob.ooobooooooo
gogobbooboboo.bboo«:0bbooobo
gboobooboobooboooobooboobogon
O00K|ODODODOO.0000 480000 19000
gobooboobooooooo.
n
micpi%:Qi_Z;Cij(Ti_Tj)
K

— Y Rijo(T} = T})

j=1

m; : 00:i000
i : 004000

T,T, : 00i,;000

Q; : 0040000

¢, : DO04j0000000
R; : 004000000

¢ : 00000ODOO0O0O0O0OO

(= 5.671078[W/(m? - K*)])

(1)Do0 @
0do00Do00o0Do00 ;00000000000 oo
go00ooooooooooooooooooooo
goooooo.

Qi:Qs+Qa+Qe+Pi

048 00000

Q, : 0000
Q, : 0O0O0Oooo
Q. : 000000
P, : 0000

00000
000000000000000000000000
000000 E,00000000000 1399[W/m?2]0
0000000 1309W/m?|00000000000
000000000000000000000000
00000 AO00DOO0OOO0OOO0O0O0O0O00000

Qs 0
Qs = il Ap

obobOpOO0OO0CO0OO0ODOOOOOCOOOOCOOODOO
oooooooooooo.

p=(000000)/(00)=sing

Ul o, 000¢:0000000000.
OO0O00000 Q.

oboooooooooooboobobobooboo
Oooooooooooo.0o0o00O0 ADOoOoOO
oooo0 Q,0oo0ooopopooooo.

Qa = a'IsAFa

c0000D0DOOODODOOODODOODDOOO
gboooboobooooobooogooboo.

a = 0.30 + (+0.30, —0.15)

OO000000 Q.
gbooooocoooboobobobooooog
gboboobooobooooobooooboobooon.

I, = 237 + (+27,-97)[W /m?]



gboooboobooooobooooobooon.
gbobooooooooboooooobooboban
ooooo

Qe = aiIeAFe

OO0 rF.O00000O0O0OOODODDDODODDDD
oobooooo.000oo0ooobooobooooo
oooooooo.

1 R?
Fo=-d1-J1- "B _
2{ (Rg + h)? }

Rp:-0000O
h:0O0O00O

Rp =6378km|(0000),h=500km] 000000
oooooo.

F. =0.313

oo0oog P
04000000000000000000 34.06[W]
ooo.
(2)00000 Cy

Ciyj = — }
Ca, T Cu,
kiAi/L;

hijAij

1
+CTJ-
Cy,
Cs.,
goboooooooboooa
000000
. goooood
i ;. Dooooooboood
Od.j000000000000
dde¢yj000o0ooag

b« 000000

i

}S‘Shtmw
SUOS S

4.4.4 0000 Ry

gooooooboouoooooo.
Rij:eiejFiin

ubq 0000
gbo:0000 400000000

61‘,6]‘
Fy;

gob 4800000 200000000000000

oooo.
1 / / cos 0; CosejdAidA]‘
7TAi A; J A, 7’2

Fy; =

34

r 0040000
0; 0A,00000000
0040000000000
0, 0A;00000000
0040000000000
ooooQ

ooboooboooooboooooooboobooo4000
ooooooobogoboobooooobooboboobg
oo0ooooooo  )WOOooooooooooooo

obooooooboooogon

0 40: 0000000000000 00000

00 00 0000 [0] | 000 [W]
00ooo0o
ooooo oooo -20/+70 3x 3
00000 -30/+50 1
000 -10/450 12
0ooo 00000 -30/+85 0
GPS -20/4-60 1
EEEE]E -40/+93 0
0ooo -50/+85 0.1x 3
000 00O -30/+70 8
000 -30/4-60 0.13
000 CPU 0/+50 0.4
00000 0/+40 0(0 W)

041: 000000000000000000

ooo 0o IEEEEEREIREEEER
000 000 -30/+70 (000 1.3)
0000 GPS -20/+50 16
0oo CPU -20/+75 0.1
0oooo -40/+100 0(0 uW)

000000000000000000000000
0000000000000000000.00000
0000000000000000000000000
0000 10[0]000010030[0]000000000
0000000000000000000.00000
00000000000000000-100+50[0]0
10[0)000000000 00440[0]0000000
000D000.0000000000 GPSO0000O
0000000 10[0]0000-100440[0]0000
0O0o0oo0o0oo0ooo.

040000000000000000 34.06[W] O
000000000000000000.000000
000000000000000000000000
0000.0000000000 0.035m? 00000
000000000000000000000000
000000000000.000000000000
00000000000000000.0000000
00000000000000000000.0 420
0O0O000000O0o00.



0 42:. 00000000

ooooo oooooo ooooo

goooooo 0.25 0.82

goooooo

(00 0.2mm) 0.21 0.80
goooo oooooo 0.92 0.87

googo 0.66
goooo gooooo 0.34 (0.011)

googoogo

gboboooooooobooboooobooboboo
gbooooboobo 480000 190000000
oobooooboooooboooooo.obooog 1o
oboboooooooooooobooboboooooDg
gboboboboboooboobooooboooboood
0000000000000000 30[deg)000ODO0O
obobooooboobooooobooboooboobooono
obooo+0booooooboboooooo

043: 00000000

00 00 000 (0] | 000 [0]
1 -Xoooo 28.2 23.5
2 +YOOOoo 17.1 13.9
3 +XO0000o 26.4 23.2
1 YOooo 8.5 2.32
5 +Z0000 24.7 20.4

ZO0ooo
6 (00D0DO0ooo0n) 23.0 19.2
7 00000 30.2 26.7
8 00000 29.8 26.0
9 0oooo 28.3 24.3
10 ooooo 28.6 25.0
ooooo
11 (GPSODOO) 33.6 29.6
Xoooo
12 (00DO0O0Do0) 95.0 -75.6
13 | +YOOOO (000) 17.5 -20.1
+Xoooo
14 (00DO0DO0ooO0n) 95.0 -75.6
15 | -Yoooo (0oon) 69.4 -110
FZOoooo
16 (0ooooooo) 56.1 -172
ZOooo
17 (0oDooooo) -55.4 -75.9
18 | -YoOooooooo 40.2 -72.0
19 | +YOOOoooooo 40.2 -72.0

000000000000 0000oo 10030[0]
000000000.000000000 0040[0)0
ooboooooo.00ooobooobooobooboo
gboooboob+bobooobooobobobood

goo.

044 00000000

0o 00 000 (0] | 000 [0]
1 XO0O00O -3.53 ~4.89
2 Y0000 414 5.07
3 +X 0000 3.12 -4.47
4 YOOOO -4.24 5.17
5 +Z0000 -3.49 477
6 Z0000 -3.49 477
7 00000 -1.29 -2.28
8 00000 2.8 3.73
9 00000 2.8 -3.81
10 EIEEIEE -1.49 -2.47
11 EIEEIEE 11 10.1
XO0000

12 | (00D0D00000) 93.3 -78.7
FYoooo

13 | (00D00000) -23.5 -80.4
FXoooo

14 | (DO0DO00000) 93.3 -78.6
NYoooo

15 | (Doooooon) -23.9 -82.9
FZO0000

16 | (DODOOD0O00) 93.3 -79.1
Z0000

17 | (000D00000) 93.32 -79.1

4.5 00OD0OOOO

gbooooooboobooboobobobooboo
goOoOocpUOOOODOOODOODOOOOODOOO
OooooooooooooooDoDooODOD crpULD
O000SHT1sRO0O000000000000000
ooGpSOOO0O0OOCDOOOOOOOOOOCODO CPU
oooooocpUOOOOOOOOOOOOOOOO
ocOooOOocpUOOOOODOODOODOOOODOO
ooooooooooDooOo 490000

T2 EER
H0ER GPs || & [xmEt7L1 S ovor |

2
| PCU I:' N7 I

A

BEMESBHNE
FRIES B

AR

GPS
SH-3(7718R) WSt
EE

049: 00000

O00000000000o0oo (cesbs)ooooo
gboooboobooooboobooooobooo

35



4.5.1 SH7718RUO00ODO

obobooboooooooboobooooooooo
OO0 SHrisROOOOoOoOooOoO cpuOOoooooOnO
oobooobooooooooboboobooooboooooo
oooooooooooooboooooobobooog
goooooooooo sHrmsrROoOOoOO

4.5.2 H8/3694F 00000000

obobooobooooooooooooooboooon
00 H8/3694F 000 00DO0O0O0DOODOOOOO
gooboobooboobooobooo

4.5.3 0OOOO0OOO

obobooboooooobooooooboooboobon
obooo400000000

0 45: 000
00 | SH7718R | H8/3694F
0000 v 3.3 5
ooo mA 120 20
0000000 | MHz 100 20
ROM - 192[MB] | 32[KB]
RAM - 128[MB] 2[KB]
0o mm | 22x22x17 | 33x28x10

4.5.4 0O00O0O0OOO

0000 (CCDSDS)0000000000 (TDM)
000000000000000000000000
000000000000000000000000
000000000000000000000000
000000000000

5 Uogg

5.1 0O0O0OOoooOo

gboooboocooooobooboboboooboon
oobooooboboooboboobooooboooon PFM
ooobooooobooooooboooobooooboog
gboboooooboooobooboobooooag 2000
oobooO0ooooooooobo2c0c000000000
g1oo000ooOOso000000000000OO

oooooooooboi1bboooo0ooooooooon
gbobooooooooooooooooboooboonog

oooo,00D0000JAXAOODDOOOOOOO
Oo0000JAXAOOOOOOOQOOOOOOOOd
o,0b024000000000000000000

5.2 U0O0OO0OOOOO

oooooOoboooobobsonnoon

gobooooooo2012000000000000
gboboooooooooooooooobonba
oboboooboobooooooboooooooooobo
o0 BBMUOODODOOOOOOOD EMOODOOODO
boboobooboooboobooboobooonn
EMOOOODOOOOOOODOOOOOOODOOO
obobooooooooooooooooooooa
oobooooooooo pPMODOOOODOODOO
ooooooooooooboooobOoO0oO0dPEFM
boboooooooooooooooooobooono
oooooooobooobobooboooboooobogs
oooooooooooo

2011 2012 2013 2014 2015

B B a%at EARET | FEMEREt HEEERET :‘I.g
r

B BBM#i|F | EMZ4E - 34 8% | PFMEL{E - 3B Hs

g s0: 00000000

36



HEN

oboboobobobboooobooboobooboo
obobobobobobboooooooooooog
gbobobobooboobooboobooooobona
obobooooboooooooooboooboobobo
000000000000 D0O000DO000D0OJAXA
obooooooboooobooooboooooooog
gbobobooboooooooooooooooonog
000000000000 D0O0000O000D0OO0JAXA
oobooobooooboobooobooobooooDo
o000 GpSOOOOCOOOODOODOOOOOOO
gobooooooobooooooboooooobooog
oboboobooboooooobooooooooooonog
obobooooboooooooooboooboobobo
gboboboobooooobooooooobooooonog
oboboobooboooooooooooooooonog
oboboboboboboooboooooooonoog
obobooboobooooobooooboooooooog
goooogd

ooon

1] 00000“00000000000000000
gboooooooooooboooobooon
goO0r’c0oooogooooogo2oord

gboooobooooboobooooboobo
gooo“cooooobooooooooooono
00000’00000000000 (JAXA)

ooooo“cooooboboooooooooono
g0"’000000000000020080

gobooo“cooboboooobooooooo
gooooooooooboor"ooooooooo
gbooz20100

gobgo ,0o0boobgoobooboobon
oo00DoO0oOoooooOon |, isasll-sbs-008

James R. Wertz , Spacecraft Attitude Determi-
nation and Control ,1976

Martin Walt Introduction to Geomagnetically
Trapped Radiation 1994

Anayltical Mechanics of Space Systems

Hanspeter Schaub , John L. Junkins 2003

Joseph A. Carroll , SEDS Deployer Design and
Flight Performance , ATAA paper, 93-4764

37

[10) 0000000000000 000O0O0OO0O0
gbooooooooo o

[11] Robert P. Hoyt, Robert L. Forward, “The Ter-
minator Tether: Autonomous Deorbit of LEO
Spacecraft for Space Debris Mitigation” , ATAA
paper, 38th Aerospace Sciences Meeting and Fx-

hibit, January 2000

[12] Pekka Janfunen, “Electrostatic Plasma Brake for
Deorbiting a Satellite” | Journal of Propulsion

and Power, Vol. 26, No. 2, March-April 2010

gbooooboooobOoboooobooon
oboM-vOOOOOOooDOooOOoOOoO ooooo
0oooooob boobo bobooooobo
oo

gobobobooboaobooboobooobab
googooooo



